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3. Circle should be darkened completely so that the alphabet inside it is not visible.
4. Do not make any unnecessary marks on O.M.R. Sheet.
5. Mention the number of questions answered in the appropriate space provided in the O.M.R. sheet

otherwise O.M.R. sheet will not be subjected for evaluation.
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2)

3)

4)

Physical education as well as sports experienced a ‘GOLDEN AGE’ in which
ancient country?

(A) Greece (B) Italy

(C) Rome (D) Germany

T320T &30 TN JETIEd Q3T SIS TIESTY ADTEVF CAVNT, WPDAFF?
(A) Nex* (B) wwd

(C) Bwex® (D) =3

Who is the founder of school of Gymnastics in Germany?

(A) Franz Nachtegall (B) V.A. Blyakh
(C) Per Henrik Zing (D) Spiess
BIVEACNY BTWP AT RIGlOW m@ﬁ%da C3RTVY

(A) TR0 oM (B) .. w5
(C) TT° IJQF° o' (D) Aex

The festival for women held in honour of the wife of God Zeus was

(A) Helena (B) Heraca

(C) Horkios (D) Olympics

RBO30F TeRT POWEOD NPT 00N 2308 BCHOMN CSAVIN JTERHCOOND

(A) IS0 (B) Soozo
(C) Jwedsodnes® (D) wdoaT

Which of the following body types are characterized by delicate body
structure and poor digestive system?

(A) Endomorph (B) Mesomorph
(C) Ectomorph (D) Athletic
83 IYNT 03T TeTT AFNYY mg\& TeT TWS T TWFO BeFporOn
BRHODTZ), BHOVT OTEINT.
@ B8 <A
(A) R0TBREITTOTE (B) RvRnemoTs
(C) dRemTE (D) oz
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5)

6)

7)

8)

Which of the following is also called the cognitive learning?

(A) Affective learning (B) Mental Learning
(C) Motor learning (D) None of all

88 INIYNTY CRPYTI, TN 3OIND DO FBORZTY?
(A) TR 3% (B) =388 398

(C) Bo3od 39D3F (D) cmmxTe ©Y

Muscles are connected to bones by means of

(A) Cords (B) Ligaments
(C) Tendons (D) Fascia
R,0IVN RINTRODN FOTFF AT

(A) DOND (B) @%gpdaf%mﬂa
©) molomdaf%mb (D) 03w

Which muscles contract only when stimulated by Nervous system?

(A) Skeletal muscles (B) Smooth muscles
(C) Cardiac muscles (D) All of above
SOVVOTBOROT mé@&%ﬁg@dﬁ oSo= molommﬂo mm&gm@%gﬁ?
(A) @%)pwozsdcs m@pﬁmﬁ% (B) m@mmd m@pﬁmﬁ%
(C) BBOD VN (D) DT IR

Mark the correct passage of air during respiration.

(A) Nasal cavity - pharynx - trachea - bronchi - alveoli

(B) Pharynx - trachea - Nasal cavity - bronchi - alveoli

(C) Nasal cavity - trachea - pharynx - alveoli - bronchi

(D) Trachea - pharynx - bronchi - alveoli - Nasal cavity
PATHVT FIONTY MOPOH ROCIIT T[IPNE =, SR,
(A) IR A — FOIFT, — LW — POV — ST*RCIReD
(B) $037 - Lpo» - I TS — oW - SOOI
(C) 3T AW — 80D — POIT, — BRI — PO
(D) e3p8cd - POJF - o - STFRNRD — IFS WA
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9) Which of the correct sequence of blood circulation?

(A) Heart - Arteries - Arterioles - Capillaries

(B) Arterioles - Heart - Arteries - Capillaries

(C) Heart - Arterioles - Arteries - Capillaries

(D) Heart - Capillaries - Arteries - Arterioles

T3 TOWOBOD FOOIPT FRD OITT?

(A) BTOD — STFZRAIND — 3eY D035 PDVFIND — SRS
(B) =eg TV OTFINWD — FTOD — OTFIND — ARCDTVINW
(C) mweDd — Ay D035 DDPOIND — DTTRIND — BREDTOSND
(D) mTeH — BREDVTOPNYD — TTEIND — REY T08 OTTOIND

10) Friction force is a
(A) Tensile force (B) Compressive force
(C) Contract force (D) Non-contact force
TREHBOD WOF) WO
(A) 3xFT 33 (B) momese I3
(C) modpeRs WO (D) ARTEBIYT WO

11) Which nutrients are essential to growth and repair of muscles and other body

tissues?
(A) Proteins (B) Minerals
(C) Roughage (D) Vitamins

TOIVNALD  e0BY 98T TeIT WOMPOBNY BYTAR FY TR 03T
TRCRTOIND @mﬁssmﬁd?

(A) TSN (B) 02:nh
(C) ez (D) QENT,
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12) Which of the following is positional average?

(A) Mean (B) Mode

(C) Median (D) Harmonic mean
FINTZYNYY 3P m@@% RODRO SNTIIT?

(A) RTORO (B) wm03

(O) mc%o% (D) TR0 edT XTXO

13) Which of the following is not the technique of flexibility training.

(A) Static (B) Ballistic
(C) Assisted (D) Circuit
FSNTPNTY O30T sméé 30e3e80d BoTIY.

(A) %({pd (B) mse?%ﬁﬁs
(C) ITR) Je&RT (D) 5&@5@39

14) Maximum strength can be developed with.

(A) Circuit training (B) Plyometric exercises

(C) Weight training (D) Conditioning exercises
QTWBRON nogy 3803, @&35@@@ DRI,

(A) RBRFE 303e8 (B) ég&@fs 239,0350DN
(C) 3w 3TLee (D) BoGezmRon® 903N

15) The javelin was first introduced into modern Olympics in

(A) 1908 (B) 1912
(C) 1904 (D) 1900
BT W, BRTO LRON STIT LOORTT TOWERIOTI)
(A) 1908 (B) 1912
(C) 1904 (D) 1900
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16) Assessment of flexibility is done with the help of

(A) Dynamometer (B) Tensometer

(C) Gonimeter (D) Cybex

STWICD [P, TRIJIFTH, —— ABIONDOT [PBLOMITI
(A) C%Sdraw@sce (B) &3&%@@3@@369

(C) Reenee3T (D) ﬁézﬁiﬁ:

17) The middle value in a distribution refer to

(A) Mean (B) Median

(C) Mode (D) Range

2,000 LBTBCDY P @@a@m& %O YVGeDTTITD
(A) Roezd (B) mc%oéd

(C) w03 (D) oK)

18) Which of the following type of data is the categorical data in statistical?

(A) Nominal data (B) Discrete data

(C) Continuous data (D) None of above

FENJPNE C3RT BIYOBT B RO mgdeg BNFETTET BIYOBTONT3
(A) TORBPE, TTOT (B) @ééeé B32903

(C) Q00T T203 (D) R0edT CBRPT ©Y

19) Which one is not an advantage of fitness program:
(A) It relieves tension and stress of life
(B) It fasts up the aging process
(C) It regulates and improves overall body functions
(D) It decreases the risk of chronic heart diseases and illness
QINYY CIRYD FFRS0D Fo0NF TINT TOIRCBRZIY:
(A) OTH BeTIT YOI W) SCIPT ATOORIT
(B) 2w IohmT THoHoDHY, SennovmdIT
(C) o DeDT T FoODFNTI, VONOGRITT 3T RFOORTTI
(D) om0 QEFFHOT FTOD FoONSALD B eﬂm&@eﬁécs TOONT/I), FRR
TRTITI
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20)

21)

22)

23)

Among the following which one is a combination of strength and speed
abilities?

(A) Explosive strength (B) Strength endurance

(C) Maximum strength (D) None of the above
FENTYNTY BRPYT WO D) BN TOTDVPEFNY FOO3LEBRIOITNT
(A) RRees I3 (B) 33 o3

(C) nogy o3 (D) 00T XBRPBR ©Y

Learning of physical skills is concerned with

(A) Cognitive learning (B) Affective learning
(C) Motor learning (D) All of the above

QRNYY C%%o% @5@571%3 3OER TOWORITVFHYTR

(A) ﬁ@@@% 393 (B) Zomox0m00 9%
(C) Bz 393% (D) 0edT IR

Main function of blood is
(A) Transportations of living things
(B) Provides protection

(C) Facilitates gas exchange function
(D) Provides supports

T30 WEWN, FODE WOWT

(A) 22eTBEORTI, FNTOTYTD

(B) T3® Qw3

(C) ©QO DITVOH TORFNTR, RNSRROSTI
(D) Boww BN

Which of following is not central tendency

(A) Mean (B) Median

(C) Mode (D) Standard Deviation
FSNTPNTY CRTH 30T T, 30DY

(A) mTo%O (B) Z)DC%O%

(C) w3z (D) T30ed8 BOT
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24) Which of the factor was influenced to the name of Olympic?

(A) By person’s Name (B) By the place’s Name
(C) By Big building’s Name (D) By the name of Warrior
WOOLTS BRON ST WOTTY) TWLORSTONT?

(A) R3oD BROROT (B) ﬁ@%ﬁd BROROT

(C) Beg 3LET THOVOT (D) ~oT3E3s BROI0T

25) What is the result produced by a computer?

(A) Data (B) Memory
(C) Output (D) Input
neego0Ty WWTOAH FOTHOTBI?

(A) B203 (B) &I pcd
(C) ZBSeraoes (D) o'z

26) It is a device that connects two or more networks.

(A) Gateway (B) Pathway

(C) Roadway (D) Rootway

QD AT HTTIzo0 éagjs WOTLVF ONYRY, BOTF AT AOPIONT.
(A) %ngﬁ@ﬁ S} (B) =@ns T3

(C) B3 =y (D) 2Bed =

27) Which of the following commends are using to copy selected text and to paste
it in a document?

(A) CTRL + C, CTRL + V (B) CTRL + S, CTRL + A
(C) ALT +C,CTRL + P (D) SHIFT + C, ALT + V

BO% TTFTW), TTL TRTBL WD) FEINTY VTR, WOLTLD FPNT 0350
@ﬁ@o&m& 2$RTT?

(A) CTRL + C, CTRL + V (B) CTRL + S, CTRL + A
(C) ALT + C, CTRL + P (D) SHIFT + C, ALT + V

MA-9044 8]



28) What can be earned through regular and systematic fitness programme and
positive lifestyle habits:

(A) Sound mind (B) Sound wealth
(C) Healthy body (D) Physical fitness and wellness

AOHWT W BILE AGFE WOLFIHRD I R0 2T FO0%
ORATY PO aa§m i ——

(A) 3GBE IR (B) AGE RoTH
(C) =dnenss Bew (D) B3x3 MBDFF B eI

29) Which one of the following is the best example of maximum strength?

(A) Weight lifting (B) Distance cycling
(C) Hitting in hockey (D) All the above
FISNTPNTY PRI nosy ww%é OMCIW NVTOTBTEBOTNTI?
(A) O3 DB (B) ©wd fgﬁ@s 500
(C) To30DY TRTWOINFYTD (D) R¢IT 2QR

30) Which of the following is not law of learning?

(A) Law of readiness (B) Law of exercise
(C) Law of reading (D) Law of effect
FSNTINTY P 3OFCH 0NTDTY?

(A) %c?pé QO (B) ©zRAT Q03
(C) Loz dohaw (D) TOorox0T Q0D

31) The chief excretory organs of human body are

(A) Lungs (B) Skin

(C) Two kidneys (D) None of these

BRTH BT BN, VIBES WONND

(A) %@ﬁ&@esmﬂo (B) &k&F

(C) QTED RSLOTNRW (D) anndd CSRPYTL ©Y
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32) The outer layer of skin is called:

(A) Dermis (B) Epidermis
(C) Endodermis (D) Exodermis
BIVFT TRT mcwm& e ITODONTT:

(A) Bz (B) oBER
(C) Q0BRCTeNT I (D) S8ReBRFT

33) The shortest training cycle is called?

(A) Macro cycle (B) Micro cycle

(C) Meso cycle (D) None of these

TR BTLIeSOD WD, &erl BBODLRMTTI?

(A) ==0n, 233 (B) mge 233

(C) A &3 (D) 608 XRPTBR ©Y

34) When the cervical spine is over curved is called :
(A) Cervical Lordosis (B) Cervical kyphosis

(C) Lordosis (D) None of above

C3DON ADFFT TRVRIND B3¢ B, [NOWF, LRNTT SeRRVR|H —
(A) TRFTST COBRCFRAT (B) moeze® éﬁm%ﬁ

(C) <oBdperAET (D) 608 XRPTBR ©Y

35) Ergometry is a process by which we measure

(A) Brain activity (B) Muscle potential
(C) Lung capacity (D) Cardiac output
DTRFEENLIOIN Ty WHOINT 03T TFONCITONT

(A) DTOT WeTe3sd (B) A,00008 MBE
(C) ZFEBRIT TOWFE (D) B TodT Bershes

36) The term ‘Jump Ball’ in which sports is associated with

(A) Lawn Tennis (B) Badminton
(C) Basketball (D) Hockey
O3 FeBODNY WOT* T D02 BWey) IOWORAT
(A) oF° @%Qﬁe (B) RauT
(©) mféw aplod (D) 0%
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37)

38)

39)

During the time out situation, substitution of players is in Throw ball
game.

(A) Not permitted (B) Permitted

(C) Conditional permitted (D) Only one time permitted

BREWS ST EBRPE HOTY WK BLMTOR
(A) UV eTSINOPOY

(B) @08 eBSONT

(C) =TT wIE

(D) 20T W00 [T RVTETONT

The radios of shot put circle is

(A) 1.067 mts (B) 1.089 mts
(C) 1.250 mts (D) 1.106 mts
LTI [IT GRND QTRNT

(A) 1.067 mts (B) 1.089 mts

(C) 1.250 mts (D) 1.106 mts

What is minimum height has to toss the ball at the time of service in table
tennis game

(A) 6 Inches (B) 8 Inches
(C) 4 Inches (D) 7 Inches

g3ce0® @38@9 BSLMOTDY FNECT  TI0TON %Zba”% @&g @é@% m@ma
@f)o&zﬁe@mgcﬁ

(A) 60BN (B) 8 qodnsd
(C) 4 q02dnsd (D) 7 qodnsd

MA-9044 [11] (P.T.O.)



40) Which of the following races in swimming does not start with a dive?

(A) Freestyle (B) Breast stroke

(C) Butterfly (D) Back stroke

BENT 0T B3e THFOID FROTT IR0V TWRTOLTRNRNY?
(A) @egé@ (B) &= my)ese

(C) 2&0T°F fovey (D) w7 AR

41) Which of the following is sixth limb of the astanga yoga?

(A) Dyana (B) Darana

(C) Pranayama (D) Pratyahara
BINTIYNYY OIPIYT WTWONR C3RENT STZe WONRTONTI?
(A) w8 (B) oo

(C) T30 (D) @@mémd

42) Which of the followings is not a Pranayama technique?

(A) Sheetali (B) Plavini
(C) Bhramari (D) Kapalapati
FINTPYNYY O30T TFe030T I0TRY?

(A) 2639 (B) TR

(C) R0 (D) z30z8

43) Which of the following event doesn’t have WIND GAGE machine?

(A) Long jump (B) Javelin Throw
(C) 200 M. Race (D) 110 M. Hurdles
FINTZYNYY 03T/ BPFR DOT 1162 00T, AWR)OY

(A) ©o0¥ HOT® (B) 20R97 gweg
(C) 200 <we. &&d (D) 110 ¢ BEES
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44)

45)

46)

47)

How much points will provide to a LONA in the game of kabaddi?

(A) 1 (B) 2
©) 3 (D) 4
3R BR3P O SreTon DT, WOFNII, 2TNATIZT?
(A) 1 (B) 2
©) 3 (D) 4

Which type of research is connected with collection of data, describing and
interpreting the conditions that exist?

(A) Descriptive Research (B) Experimental Research

(C) Action Research (D) Applied Research

0303 0e80D FOJRETHOM BAZITYTE TORANT TIYOZ FONEE, WEF
0B mdﬁosm& TRODTETS

(A) QFTFRET BOZRCTS (B) wadnens Bo3news

(C) 303 Bo3ReEs (D) ©5003 Bodwes

What is the expansion of VO,

(A) Volume of origin (B) Volume of oxygen
(C) Volume of dioxide (D) Volume of water
VO, 3 OR0H O

(A) DROT TOZTR (B) ©:NRITIT HOTI0D
©) céd e—sﬁéw"‘ BOTIOED (D) 208 T[OT|Ioed

Alveoli is present in

(A) Lungs (B) Eye
(C) Nose (D) Heart
S0P FOTILITOTHTD

(A) mﬁ&r@@mﬂa (B) @)
(C) =wmd (D) B3O

MA-9044 [13] (P.T.O.)



48) Reinforcement theory of motivation is given by
(A) Jung (B) Herzberg
(C) Skinner (D) Maslow
TEOROD WOBTES ATYOTHEY, QEFVLIT[D

(A) zon® (B) xeFroones
©) ?%sope (D) Soxrdee

49) When was Lakshmibai College of Physical Education established in

Gwalior?
(A) 1967 (B) 1947
(C) 1957 (D) 1977

MOCIRT TY ©F €2ToW dé%os 3T Foe30e8) O30eoNn m@ﬁéﬁroo@@b?
(A) 1967 (B) 1947
(C) 1957 (D) 1977

50) Which of the following is an apex body for promotion of sports in the

country?
(A) LNCPE (B) NIAS
(C) NIS (D) Punjab State Sport’s Council

P08 Te3TY B3 TINT 0T FOFOUD 360w TRHVTHR, IRTBOTIT?

(A) QF.Q7°.2.2.9. (B) o0F.20.0.0%".
(C) IT°.20.07°. (D) Zoeexn To%, $eT0 0T
33 DIV
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10.
11.

12.

WPRENRER BeWIned

8.00.80°. VBT TP B3R 50 TIRIR, TROOWT IRTTL IPRT T,
TORFEI, DI QEBSONT.
3RYTB TF, TATH), ey TOFR G0, TPRILOBIT  DWODE FOWOHATE
ROLNTI), TOHEDRT.
w23 wé%oja mada‘n lgtclovilelniiiciolovite) DB @)%wg%omozs 8.200.87°. QVZT
m@oﬁaa‘n IBRIN :%ﬁzsa 8.00.80°. QVZT TOYONY TP, [0SR, 35080.
3L m%éomoé Qe ITRTODY DW/INTI, BOLIELD éba:j@md& ame Sl
TR TPOBPTI ATONTY  YVOLRMIT  TOFORNRASTK  [;00FFoN  Jesse
wtiplelenpiestJe}
TOEEOD FDOLTY:
2  TESOIROTD TIODI, PNRZWOT LOD.
b) T JBoD IR eRI e, v SONNYY ©WI0Z BORPT/ RHTIWT

NZTIR, IGFOR.
C) %087, TRYORYT BOWOHAT TB0H B[ TYTOTTR, FOTREF N BVOWDO.
NTRTIBA, T, BEFODY T3, B0, 83 “C” FOWWT LWITONTT, e B Lo
TOOROET T W L.D0.8T. YIT TOYOD T M0, 83 IN0T 38 FYNTOZ
30020:
=3, B0 8. ® @@ DO WITH Tw3) (LR TOWOLT T =G LVTIREN)
emédztﬁ wawﬁodéoja 2TZEIROD, (BB 307) T3, BSFONY wBNAT 2D PRTY
m:%de mcézﬁeso (%.200.3T". eméd m@oﬁo@ mwmdm)
2,000 JNFHR TJBR 0T3O ézﬁ; mgm;sm MVSFRNT T, YOBT YVZTB/I),

3T, QO waﬁsémromgzs WP 0IPRYTE WOTI, ABCRMOPOY. £0.00.83T°.
TOPORNDT YVTOTTH e R.
VPR ) 3RTR fme%md%do QOF FHRAT :;p%ﬂdeg 20.20.83T°, ToPOD a0 Do
TRTLER.
ChaTalens waecﬁoﬁo J03BT BRTE d)@@?ﬁmdsaﬁ R 8.00.85T°. VBT To¢ B
DIDTOAVONT TSONT, LODTONTLIER.
LB HFOI T3, TFIRI, T 8.00.8T°. VR HFOD TSI, T, B3 SNTDIRO
TRENLITOTR.
ST, BewT® DI [P FRET Y, TOETY SRTROD ¥t WDTDSTRTDYHOL.
@asfbro:’m cﬁaa’%édeﬁ éracéﬁda@m %océmodd WOTHZ WPHEODIY, BRCFEN
w@ﬁsé Uom@@@ T QOHINY TFos WOTH WPHECD LT 5;33 %zwmm@m
83 TEe3 WOegoRY SBEoIRED 2t 50 eﬁo%mﬂ@ SC/ST/Cat- I@&S@Fﬁ% TR 8
WOBNIR), OBC @z%z;brmﬁo EE 5 ©WOBNTY, mag ARET @&3@?71@:0 smw 10
WOBNTI, TEODITI.

2.990.850°. PO, oW AW
BSO3ROW TI N 2.0T3¢ oW VIO BRFOT/FO0INT YVITITTE.
BE TFR 00D F[ITHI, [T D WP FTXD VST TN FIROT [T
BOWIFI),. YOITVIZ), WRTEBILY TODITeIeR.
BFBRYNTVE ©BTR) FoRIVTOT 3 F), FOTREIFON BDOLOZIT.
£.00.80°. TFONY CIPFTE WIVFJF MNWNATI, SRBLCR.
WOZORT TINY 2ot BOZeDI, O.M.R. T INOTRADLS N3Y STehRSTRD,
93¢ O.M.R. g0, BPOBRTIY BONRSDINY.

Note : English version of the instructions is printed on the front cover of this booklet.




